2012/2013 :4gml pal) Add) . 8 e’éJ 4! S Balall A oA

szt 5 . Al
= dla¥) J) gl

A s pldllae ¢ il 1 A—wad ag—to 2 1a—udl

11 poss
2 4N ) gall Auual) Adjal) A0l el cpe Al S 8 as
I=R; f(x) =4x*+3x3+2x*+x+1 (1
x -1 _1
I=R, ; g(x)—zﬁ =13 Q@
I = ]_7”3[ ; h(x) =1+ sinx + tan®x (3
. 1 1 2
I =R ; t(X)=x—3—;+$(4
s ALY J1gall e Adla S8 ALYy Jhgall daa ;2 (sl
I=R; fx)=(x+1?*(
I=R; f(x)=2x(1+x%)2 (2
I=]-4+o]; f(x)=—= (3

(x+4)2
x—1

I_]_113[ ’ f(x) _m (4

: 3 (oA

oo = 2L, ]l. -|-oo[ Juaall o 48 jual) £ Lpasad) al) yas
@1y 7 2 ~ . ;
:&uas c9 by a 48dal) My 2 (1

(Vxe]%;+oo[>; f(x)=ax+ b+

(2x — 1)
E; —|—oo[ Jiaall e Al Aduay) ) sl geiiid (2
F(0) = —1 383 Al F 4l Al gitia) (3

4 (p s
) aVlal) e s JS B ] Jlaall o f Aaaad) DAl AlaY) ) gall aaa

I1=10;+[;f(x) = (x*+2x+1DVx 1
I=1-1;+0[;f(x) = Vx+1 (2
I =10; +oo[; f(x) =vx"+_1 @3

5 (Al
s e [2; 4] Jiaall o 4 jrall damall 1Al ol
{ f(x) =2x+3;2<x<3
f(xX)=3x*+x+1;3<x<4
[2; 4] Jaall Ao dabual W1 93 Jai f &) G -1
1AV 48 jral) daaad) Al g oS -2
gx)=x*+3x;2<x<3
2

X
f(x)=x3+7+x;3 <x<4
OLliia plase by g Cus
[2; 4] Jaall e f Adall dula) dlla g AN 0988 K1 D ga O 4Be 2

www.maths-lycee.webnode.fr




www.maths-lycee.webnode.fr




